
Lösung Aufgabe 1:

T (n) = 3 · T (n
4
) + 2n, T (1) = 2

Wertetabelle(n = 4k):

n T (n)
40 2
41 3 · 2 + 2 · 41

42 32 · 2 + 3 · 2 · 41 + 2 · 42

43 33 · 2 + 32 · 2 · 41 + 31 · 2 · 42 + 2 · 43

44 34 · 2 + 33 · 2 · 41 + 32 · 2 · 42 + 31 · 2 · 43 + 2 · 44

Rechnung:

T (4k) =
k∑

i=0
3k−i · 2 · 4i

T (4k) =
k∑

i=0
3k · 1

3i · 2 · 4i

T (4k) =
k∑

i=0
3k · 4i

3i · 2

T (4k) = 3k · 2 ·
k∑

i=0
(4

3
)i (

k∑
i=m

xi = xk+1−xm

x−1
)

T (4k) = 3k · 2 · ( 4
3
)k+1−( 4

3
)0

4
3
−1

T (4k) = 3k · 2 · ( 4
3
)k+1−1

1
3

T (4k) = 3 · 3k · 2 · ((4
3
)k+1 − 1)

T (4k) = 2 · 3k+1 · ((4
3
)k+1 − 1)

T (4k) = 2 · (4k+1 − 3k+1) (k = log4 n)

T (n) = 2 · (4log4 n+1 − 3log4 n+1)

T (n) = 2 · (4 · 4log4 n − 3 · 3log4 n) (aloga b = b)

T (n) = 2 · (4 · n − 3 · 3log4 n) (4x = 3, x = log4 3)

1



T (n) = 2 · (4n − 3 · 4log4 n·log4 3)

T (n) = 2 · (4n − 3nlog4 3)
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